Area same height different bases (HKMO Classified Questions by toplcs)
1985 FI4.3

“®¥ »BD=5>DE=4>FEC=3° FAAEC
2 24 2 AABC 2 % ff 5 c0 Kc i o
In the figure, BD =5, DE =4, EC = 3.

If the area of AAEC is 24 and the area of AABC
is ¢, find the value of ¢ . D E

1986 FG10.2

AABC 2.7 & AL~ BM ~ CN 4p 3t G ©
FAABC 2_ % i & 54 cm? >

AANG 25 #% 5 xem?® > Fox ehiE o

The medians AL, BM, CN of AABC meet at G. If
the area of AABC is 54 cm? and the area of AANG

is x cm?. Find the value of x .

1992 HG7

hEce BLzéBC . CMzéCAﬂ ANzéAB °
% APOR % AABC % #% 4 %] 5 6cm? 2 xcom?® >

In the figure, BL —%BC, CM=%CA and AN=%AB.

If the areas of APOR and AABC are 6 cm? and x cm?
respectively, find the value of x .

1992 F14.1
L@ ? > PORS 2 & # 5 80 cm? - a R

¥ AORT 2% #f 5 Aem? » F 4 ehig -
In the figure, the area of PORS is 80 cm?.
If the area of AQRT is A cm?, find the value of 4 .

1993 HI10
“® " > BDE % AEC 3 2 % ~AB=2-~BC=3~ ZABC=60° ~

AE:EC=1:2+3% BD:DE=9:13% = & 2ADBA i # _%

Faq g o

Created by Mr. Francis Hung
In the figure, BDE and AEC are straight lines, B
AB=2,BC=3,/Z4ABC=60°,AE : EC=1:2.

a3

If BD : DE=9:1 and area of ADBA = 20

find the value of a . D
A z C
1993 FG9.1-2
B XY ~Z kX #BC~CA~AB A~ & 1:20 A
®™ AAZY i F: AABC 0% f =2:a % 7

AAZY 5% 5 AXYZ ehm ff =

Fa % bhig o

BC, CA, AB are divided respectively by the

points X, Y, Z in the ratio 1 : 2. Let B c
area of AAZY : area of AABC =2 : a and
area of AAZY : area of AXYZ=2:b.

Find the value of @ and b .

1997 FGS.1

E&Ti7w 83, ABCD 2 # - i5:8 CD th® 2L o £ = 435 ADE &2 T {7 ¥

A5 ABCD & ff et 23t 1ia > fa i o

ABCD is a parallelogram and E is the midpoint of CD. If the ratio of the area of

the triangle ADE to the area of the parallelogram ABCD is 1 : a,

find the value of a .

1998 FI1.3

“®*® > BD=2cm>DC=ccm>

A
¥ AABD 7}§=%><AABC e fE

FocehliciE o
In the figure, BD = 2 cm, DC = ¢ cm

and area of AABD = % xarea of AABC, B D C

find the value of ¢ .
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2000 F14.2 3
ETRY > AB FFlhEJE o CHe D 3 3% AB ~
Az E °4"]&‘1'7fi;‘h 20
FRGw 5 Q0 K Qg o \
In the following figure, AB is a diameter of the T\ /
circle. C and D divide the arc 4B into three equal /
parts. The shaded area is 2. AN /
If the area of the circle is Q, find the value of Q.

2000 FI15.3
@ 5vAABC é% f 5 33 D~ E4c F A 9l % A

AB~BC v CA  egki¢g 8 AD

1
= AB " BE= .

lBC CF—lCA °
3 3

Yo% ADEF % f# 2R KLRhiE -
Given that the area of the AABC is 3; D, E and
F are the points on AB, BC and CA p E

respectively such that AD Z%AB, BE Z%BC,

CF :% CA . If the area of ADEF is R, find the value of R .

2004 HI9

“B¥Y »Cit AE + » AABCH4r ACDE £ %= 425> 2 F~ G » %4
BC v DE ¢ gk o 3 AABC % ## ¥_24cm? » ACDE % # %_60 cm? »
AFG % HE_Qem? » £ Q thig o
In the figure, C lies on AE, AABC and
ACDE are equilateral triangles, F and
G are the mid-points of BC and DE
respectively. If the area of A4ABC is
24 cm?, the area of ACDE is 60 cm?,
and the area of AAFG is Q cm?,

find the value of O .
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2005 HG7 4 D

4o B » ABCD 4v CEFG E_& & & 25 »

FG= 4cm -~ FAEG 5 # 4 gem® > - p
Fogenig o

In the figure, ABCD and CEFG are two squares 4cm
and FG =4 cm. If the area of AAEG is equal to

g cm?, find the value of g . B ¢ G
2006FG3.4

4rBl > ABCD ®- £-37,, F £ CD ¢hv 8.2 BE:EC=1:3¢ % &2

ABCD i # 4_ 12 cm® % K2 §:3%0> BEFD ¢ ##4_ Rem’ > & R ehig o

In the figure, ABCD is a rectangle, F'is the midpoint of & g
CD and BE : EC =1 : 3. If the area of the rectangle
ABCD is 12 cm? and the area of BEFD is R cm?, .

find the value of R . /

B E C

2011 HI10 D .
4o@ » ABCD % i35 HeY C=90°- .»«-M § -
§7) ABD 5 f 5 1633 > & 17 ABCD a4 -
In the figure, ABCD is a trapezium with £C = 90°.

If the area of the equilateral triangle ABD is 16+/3 ,
find the area of trapezium ABCD .

A B

2011 FG4.4

B »ABCD - & >3 2 E2 Fruisi AD 2 DC F % - 8
G BB AF % BEen2 8 8 H 5 8 AF 2 CE ﬁ?’ii‘l}-’g‘l}-]é,f‘aiﬁlBF
3 CEeh2 8% AGE > DEHF 3 CIF chw ff % 2 2~3 2 1

FA ¢ 8> BGHI shd # o

In the figure, ABCD is a rectangle, and £ and F are 7 5 at
points on AD and DC, respectively. Also, G is the
intersection of AF and BE, H is the intersection of I
AF and CE, and [ is the intersection of BF and CE. »
If the areas of AGE, DEHF and CIF are 2, 3 and 1, ! \
respectively, find the area of the grey region BGHI. R
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2014 FI1.1

T WY L FACA R o
Determine the area of the shaded region, o,
in the figure.

2016 HI10

4ol > & AABC ° > BD 4c CE 4 %|E_AC Fr A
AB At en? ¥ > ¥ BDICE- ¢ & BD=8>

CE=6> & AABC i # ©

As shown in the figure, BD and CE are the medians

of the sides AC and 4B of AABC respectively, and

BD 1 CE. E D

Given that BD = 8, CE = 6, find the area of AABC .

=)}

2016 HG7

KZ AV FEP EPE RS 9122 150 R3%= &350 # o

The lengths of the three medians of a triangle are 9, 12 and 15. Find the area of
the triangle.
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2018 HI12

b @] #75% > ABCD % PQRC % D

BB EeAr 2 C 5l

2 OCB 3 Xiig% s BD o ¢ R] 0
v BC=8 2 RC=6 - F35% BD

2 8B DQ ¥ BQ TR = 1%

B ha ff o

As shown in the figure, two squares 6

ABCD and PQRC are joined p 3 p P

together. An arc BD is drawn with
centre C and radius CB.

Given that BC = 8 and RC = 6 . Find the area of the region bounded by the arc
BD, line segments DQ and BQ .
2018 FG3.1

AC & T 7w :#35 ABCD
¥t & 8> CD=6>BC=2

5 /ZABC=120°-% E H_
AB ¢ BL > AC ¥ DE #p
AR MEIELINL R G 4
Ao K o PiE -

ABCD is a parallelogram with diagonal AC, CD =6, BC =2, and ZABC = 120°.
If E is the midpoint of 4B, AC and DE intersect at M, and the total area of the
shaded regions in o , determine the value of o .

2019 FI3.1

- BRI A G A 5 100 cm? o FRE P i B o e gt e 1Y o
FR PN L sem? o R s hiE o

A piece of square paper of area 100 cm?, is folded in half along the dotted line as
shown below. If the area of the shaded region in the last figure is s cm?, determine
the value of s .

S Akl

D 6

120°
B

E
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2019 FG3.2
TE®Y P AT Fe#A ABCD 4

M o % AABP ~ ABPC 4r ABPD s
A5 5 73 cm? ~ 100 cm® fr e cm?
R oe diE o

In the diagram below, point P is inside
parallelogram ABCD . If areas of AABP,
ABPC and ABPD are 73 cm?, 100 cm® B é
and e cm® respectively, determine the
value of e .

2021 P1Q10

“®B =" »BEF~ADE % CFD #_®

Mo % BE:EF=1:2>AD:DE=
1:3% CF:FD=1:4¢ %ADEF ¢
o fF E.24 T > H > RAABC 5 4 o

In Figure 3, BEF, ADE and CFD are
straight lines such that BE : EF =1 : 2,
AD:DE=1:3and CF:FD=1:4.

If the area of ADEF is 24 square unit,

find the area of AABC .
2023 HI10

wR®® D~EZ FAu 5 BC~AC 3% AB ' »
2L AD~BE 2 CFAp 2%t P @ 8 AAPF %
=84 ~ ABPD & =40 ~ ACPD s f5= 30 %

ACPE % #=35 o RAABC 1 #f o

In the figure, D, E and F are points lying on BC, AB
and 4B respectively. AD, BE and CF intersect at P

such that such that area of AAPF = 84, area of p
ABPD = 40, area of ACPD = 30 and
arca of ACPE = 35. Find the areca of AABC .

Created by Mr. Francis Hung
2024 HG4
LB=7 c41~B12 Ci~% i BC~AC %2 AB C
+ehgky i 18 AC1=2C1B BA1=24,C 3 CB
=2B1A » £AABC s #8221 T H i+ > A4
FIEFIA G ff o (of
In Figure 3, A1, B1 and C) are points on BC, AC
and AB respectively such that AC; =2C1B, BA1 = 4
24,C and CB1 =2B1A. If the area of AABC is 21 B, B
square units, find the area of the shaded region. Bl= Figure 3
2024 FG3.4
- By ;%qﬁ 1 ]&_%‘r :
() o ERFBLAPAS BFBE A 2 £ 3)605 ff 321,000 cm® 5
(i) CH=DI -
Fe A5 e e

A convex hexagon has the following property:

(1) all the triangles formed from any vertex with the two adjacent vertices have

an area of 1,000 cm? ; and

(i) CH=DI.
Find the area of the hexagon.
J
D
1
H
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Answer
1985 FI4.3 | 1986 FG10.2 | 1992 HG7 1992 F14.1 1993 HI10
96 9 42 40 9
1993 FG9.1-2 | 1997 FGS.1 1998 FI1.3 2000 F14.2 2000 FI5.3
a=9,b=3 4 4 12 1
2004 HI9 2005 HG7 20061F5G3'4 2011 HI10 2011 FG4.4
12 8 " 2443 6
2014 FI1.1 2016 HI10 2016 HG7 2018 HI12 | 2018 FG3.1
5 32 7 16m 243
2019 FI3.1
’5 2019 FG3.2 | 2021 P1Q10 | 2023 HIL0 2024 HG4
" 27 59 315 3
2024 FG3.4
6000 cm?
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